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P3-6: ['LfN', 'NdN', "TsN', 'tgtLfN’, '‘prunLfN']
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P3-6: ['LfN', 'LfNT', "TsSN', "TSNT']
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P3-6 (plot by DAT)

I
<+

Yy

I‘
1
1
“ L= ® |
g %!
BT — o
1 Yl e m 1
“ .*... .-nlllluﬂ
1 1 1 1
e h ol
i ad !
(. __||||.+
— e o o ————— -
| L IR
o A
- e
|||||||||||||||| I
m Loi e
-9
| ?) |
“ 4
1 be———-i
||||||||||| l‘ | 1
g e
—l. _.”.\LJ “
1 |
SRR o
1 .._IIIII..
1 (%)
| g
Ic
“ E
———— <
L Iﬂ_lllll..
1
1
1
1
1 o
1 £
1 o
“ :
bmmm °
o o o o o o o
[(e] Te] < m o —

Buippng a1y sAeqg

60 80 100
Days After Transplant

40

20



P3-6 TsN1 (plot by DAT)
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P3-6 TsN2 (plot by DAT)
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P3-6 TsSN3 (plot by DAT)
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P3-6 TsN4 (plot by DAT)
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P3-6 TsN5 (plot by DAT)
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P3-6 TsSN6 (plot by DAT)
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P3-6 (plot by adjDAT)
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P3-6 TsN1 (plot by adjDAT)

vest

Turn Color

Fruit Set

Anthesis

Budding

60 -
50 A

T T T T
o o o o ©
< ™ N 1

Buippng 1oy sAeqg

60

30 40 >0
Days After Transplant

20

10



P3-6 TsN2 (plot by adjDAT)
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P3-6 TsN3 (plot by adjDAT)
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P3-6 TsN4 (plot by adjDAT)
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P3-6 TsN5 (plot by adjDAT)
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P3-6 TsN6 (plot by adjDAT)
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Plot [['sfTemp’, 'sfInit’, 'sfDev’, 'sfDem']]
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Plot ['sfDemLfA']
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Plot ['sfDemFrV']
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